TS PRIMITIVES

Déterminez une primitive de f sur / dans chacun des cas suivants :

1. f(x)=12x° —4x3 +1 ; 1=

2. f(x):3—i2 7 1=]0 ;4o
X

3. f(x) = —X - =
(x2+1)
2X
4, f(X)=—;1 =]L ;+
(9= il i
6x+3
5. f(X)=—= ; I =l
) X2+ x+1
6. f(x)=-cosx+2sinx ; I =0
7. f(x)=cosxsin®x ; I=0
8. f(x)= ! +COSX ; I=}—£;+
COS2X 2
9. f(X)=(2x+1)2 ; 1 =0
xt—ax2-2 _
10. f()=——7— ; 1=10;+o]
X
11. f(x)=(Bx-1)2 ; 1 =0
4 _gy2
12. f(x)= 23X+ 32X 0 e
2
13, F() =X | o]
VX3 -1
14. f(x)zix3 ;1 =U
(x2+1)
15. f(x)=cosxsin*x ; 1 =0

feuille 5
16. f(X)=-sinx+2cosx ; I =0
x+0,5
17. f(X)=——— ; 1 =l
) Ix2+x+1
3

18. f(x)=-1+— ; I =0 ;+]
X

19. f(x)=7x3-2x*+3 ; I =0

20. f(x) = +sinx;|=}_£;+£[
272

C0S2X
21.flx) =3 +cosx, | =0

22. flx) =sin3x, 1 =0

23. f() =X |=}_f;+f[
C0S2X 2

24. f(x) =

, |=]3;+oo[

X
Ix2-3

25. f(x)=x2(x®+2)*, I =0

26. f(x)= 2005(3x—%j—4sin( X+

")

5 1
27. f(X)=——=-4,I= |= 4+
) 73x -1 }3 [

3 1

8.100= =5t e

, 15125 5]

X2+X

29. f(X)= ————,
) (2x3 +3x2)*

I=]0; 400 [

5x* +2x% —4x +1
3

30. f(x)= 110 +oo |

5 2
+—C0S—
3 3



